Paper : Political-Science-I1

Ques # :1

Who has termed Plato's concept of Justice as 'Architectonic Justice' ?
1) Catlin

2) M.B.Foster

3) Karl Popper

4) Barker
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Ques # :2

Who among the following does not consider Plato as a Totalitarian thinker
1) Karl Popper

2) R.H.S.Crossman

3) R.Nisbet

4) Bertrand Russel
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Ques # :3

According to Karl Popper,What is not a component of Aristotle's Polity?
1) Organic Individualism

2) Platonic Aristocracy

3) Balanced Feudalism

4) Democratic Idea
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Ques # 4

Which among the following was the name of Aristotle's school?
1) The Nursery

2) The Lyceum

3) The Academy
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4) The Montessori
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Ques # :5

Consider the following statements regarding Cicero: (i) All human beings are subject to one universal law
only, (ii)Their destiny is to be a fellow citizen of a Political Society .

1) Only (1)is Correct.

2) only(ii)is Correct.

3) Both (i)and(ii) are Correct.
4) Neither(i), nor (ii)is Correct.
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Ques # :6

Which pupil of St. Thomas Acquinas completed his work ' de regimine principum ' ?
1) Tolommeo of Lucca

2) Cicero

3) St. Augustine

4) Albertus Magnus
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Ques # 7

Of the following,which philosophical question did not interest Machiavelli?
1) How power is obtained and preserved?

2) How is political obligation fulfilled?

3) What makes government strong?

4) What makes freedom possible?
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Ques # :8

In the 20th century, who has authored the book titled' The Modern Prince’' ,following the style of ' The Prince '
‘)

1) Jean Paul Sartre
2) Jurgen Habermas
3) Antonio Gramsci
4) Karl Popper
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Ques # 9

According to Hobbes, The subjects have a right to resist the sovereign,if the sovereign:
1) Fails to protect the life of the subjects or threatens their life

2) Fails to ensure freedom to the subjects

3) Fails to take care of the feudal chieftains

4) Fails to control inequality in the state
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Ques # :10

Of the following, which statement cannot be attributed to Hobbes?
1) Man is by nature self-regarding and can never be otherwise.

2) Education in the state of nature make men fit for society

3) Men could get for themselves all the Happiness they wanted

4) All allegiance rests on consent.
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Ques # :11

Of the following, which book has not been written by John Locke ?
1) Essays on the Law of Nature

2) Essay Concerning Human Understanding

3) On the Reasonableness of Christianity

4) The Causes of the Greatness and the Decline of the Romans
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Ques # :12

Match List | With Il and select the Correctanswer by using the codes given below:

List-l List-11

Books written by Rousseau Major-Focus in the book
a. Emile i. A conception of history
b.The Social Contract ii. Educational ideas
c.A Discourse on the Arts and Sciences iii. Creating a society that is not corrupt
d. A Discourse on the Origin of Inequality iv. Social inequality as cause of injustice
Codes:
1) a- ii, b- iii, c- iv ,d- i
2) a- iii, b-iv , c- i , d- ii
3) a- 1i, b- iii, c- 1. D-iv
4) a-i, b-1i, c-1ii , d- iv
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1) a- 11, b- 111, c-1v ,d- 1
2) a-1ii, b-1v, c-1,d-11
3) a- 11, b- 111, ¢c- 1. D-1v
4) a-1, b- 11, c- 111, d- 1v
Ques # :13

Consider the following statements about the ideas of Rousseau: i. It is possible to exchange freedom of the
state of the nature for the freedom of the citizen. ii. Men can live in freedom if they live according to rules,they
have made themselves. iii. Representative democracy is the best form of democracy. From the above, identify
the correct statement/s:

1) only i and ii are correct
2) Only i is correct

3) Only ii and iii are correct
4) Only i and iii are correct
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Ques # :14

Consider the following statements about classical Utilitarianism of Bentham: i All human beings seek to
maximize pleasure and minimize pain. ii Everyone seeks pleasure as a means for life of spiritual peace. iii
What we seek is not the highest quality,but the greatest quantity of pleasure. From the above, identify the
correct statement/s :

1) Only i and ii are Correct
2) Only ii is Correct

3) Only i and iii are Correct
4) i,ii and iii are all correct
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Ques # :15

Consider the following statements about Hegel's conception of a fully developed state: i In the family the
individual finds self-expression and fulfillment ii Civil society is the sphere of self-assertion and pursuit of self -
interest. iii The state embodies the ethical will of the whole people. Form the above, identify the correct
statement/s:

1) only i and ii are correct
2) Only i is correct

3) Only i and iii are Correct
4) i,ii and iii are all correct
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Ques # :16

Which among the following is not a feature of Representative Government, as advocated by John Stuart Mill
D)

1) It will be a parliamentary government with the executive answerable to the assembly

2) it will be based on universal adult franchise.

3) it encourages participation by the ordinary citizen.

4) It is based on proportional representation.
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Ques # :17

Which of the following book has not been written by John Stuart Mill?
1) Utilitarianism

2) Considerations on Representative Government

3) The Subjection of Women

4) The Principles of Ethics
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Ques # :18

Which one of the following statements cannot be associated with T.H.Green?
1) Green Offered a humanized revision of liberalism.

2) Identity and happiness of the individual is inseparable from the social whole
3) Legislatures should control the consumption of alcohol.

4) Common good is the goal of the community and not that of the government.
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Ques # :19

"The Philosophers have only interpreted the world in various ways; the point however is to change it.' Form
which book of Karl Max, this statement has been cited?

1) On Jewish Question

2) Poverty of Philosophy
3) Theses on Feuerbach

4) Class Struggle in France
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Ques # :20

Identify the incorrect statement regarding economic ideas of Marx ?



1) Capitalism is a commodity economy.

2) Surplus Value is the difference between the Value in use and Exchange Value of Labour.
3) Surplus Value is created during the process of exchange.

4) Money becomes Capital, when it creates Surplus Value.
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Ques # :21

" The Way the society is organized is natural and right and should not be questioned." According to Karl
Marx, which agency made this belief possible?

1) The Army

2) The Police

3) The Education System

4) The Social and economic condition
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Ques # :22

Consider the following statements about Gramsci's ideas: i Revolutionary transformation will take place
because of self-interest. ii Superstructure and civil society are important in achieving successful change. iii
Bourgeois values remain dominant, because the masses remain away from them. From the above, indentify the
incorrect statements/s:

1) only i and ii are incorrect

2) Only i is incorrect

3) Only i and iii are incorrect
4) 1,11 and iii are all incorrect
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Ques # :23

The main contribution of Louis Althusser lies in supplementing Marxian view of human nature with some of
the teachings of

1) Sigmund Freud
2) Bakunin
3) Trotsky



4) Proudhon
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Ques # :24

Consider the following statements about Habermas's philosophy: i Individuals should determine their own
vision of good life. ii Peer groups have taken over many functions of socialization from the family iii Rational
collective discussion improves outcomes of democracy. From the above identify the correct statement/s :

1) only i and ii are correct

2) Only i s correct

3) Only i and iii are correct
4) i,ii and iii are all correct
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Ques # :25

Consider the following statements about Jean-Paul Sartre's Existentialism. i Humans find themselves in
situation of the own creation, situations that condition them and limit their options. ii Humans must create
their own identities by defining their aspirations and goals. iii Cosmos is indifferent, superfluous and without
concern for human purposes . From the above, identify the correct statement/s:

1) only i and ii are correct
2) Only i s correct

3) Only ii and iii are correct
4) i,ii and iii are all incorrect
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Ques # :26



Match List | With List Il and select the correct answer by

using the codes given below:

List-1 List-lI
a. lean-List Sartre i. Political Liberalism
b. John Rawls i. Spheres of Justice
t. Robert Mozick iii Being and Nothingness
d Michael Walzer iv The Nature of Rationality

1) adiii, b-i, c- iv, d- i
2)  adiii, b-iv, ¢ -i, d- i
3)  a-ii, b-iii, c- i, d- iv
4)  a-i, b- i, c-iii, d-iv
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1) adiii, b, c-iv, d- i
2)  aiii, b-iv, ¢ i , d- ii
3)  aii, b-iii, c-1, d- iv
4)  a-, b-ii, c-iii, d-iv

Ques # :27

Consider the following statements about John Rawls's theory of Justice: i. Justice as fairness minimizes the
possibility of conflict, because it secures the interest of the majority. ii Justice as fairness is capable of
acceptance by all human beings, who are rational, no matter how divergent their other beliefs may be. iii
Justice as fairness is capable of being the object of an ' overlapping consensus '. From the above, identify the
correct statement/s

1) only i and ii are correct
2) Only iis correct

3) Only ii and iii are correct
4) 1,ii and iii are all correct
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Ques # :28

Which one of the following statements about the political thought of Robert Nozick is incorrect?
1) Nozick believed in the doctrine of inalienable Natural Rights.

2) Utilitarian principles can be applied for the sake of greater good.

3) The only rationally justifiable State is a Minimal State.

4) Justice is procedural, rather than distributive.
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Ques # :29

Robert Nozick gave an alternative of John Rawls's theory of Justice, whose key feature is
1) Privileges

2) Interests

3) Priority to worst of classes

4) Entitlement
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Ques # :30

Who among the following believes that the principle of ' Complex equality ' should be applied in the
distribution of social goods:

1) Michael walzier
2) Robert Nozick
3) Jear Paul- Sartre
4) Antonio Gramsci
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Ques # :31

Who has described Political Theory as ' Word dependent Reflection' ?
1) Dante Germino

2) Jurgen Habermas

3) Rajeev Bhargava

4) Bheekhu Parekh
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Ques # :32

Which of the following is not a feature of Traditional Poltical Theory?
1) Study of ' great issues '

2) Exploring Human Behavior

3) Exploring the'ideal state'

4) Philosophical orientation
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Ques # :33

Among the supporters of Traditional Political Theory, which pair is incorrectly matched?
1) Hannah Arendt : Incompatibility between ideology and political theory

2) Michael Oakeshott : Philosophical analysis of experience

3) George Sabine : Historical study, as appropriate approach

4) Charles Merriam : Theory to control human behavior
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Ques # :34

According to Alfred Cobban, the decline of Political Theory was an outcome of
1) Cold war between capitalist and communist systems

2) Process of decolonization

3) Narrow theoretical analysis by capitalist and communist systems

4) Rise of neo-colonialism
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Ques # :35

Assertion(A):In order to understand the new role of Political Theory, it was imperative to identify it with
Political Philosophy Reason (R ) Political Theory critically discusses the perennial problems confronting man
in his social existence.



1) Both A And R are individually true and R is the correct explanation of A

2) Both A and R are individually true, but R is not the correct explanation of A
3) A is true, but R is False

4) A is false, but R is true
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Ques # :36

Among the following, whom does David Easton not consider responsible for the decline of political theory due
to Historicism ?

1) William Dunning

2) Leo Strauss

3) Charles H.Mcllwain
4) George Sabine
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Ques # :37

According to which intellectual foundation of Behairouralism, the Theory should be based on Research?
1) Regularities

2) Pure Science

3) Systematization

4) Integration

sgagRaTe i fha difge smRfrem & sqar Rgia ater o3 amenRa g @i 2
D frafaraant

2) o€ fare

3) cgaETERoT

4) wehrator

Ques # :38

Consider the following statements: i Behaviouralism rejects Political Theory as a merely chronological and
intellectual history of ideas with no practical relevance. ii The Behaviouralists claim that normative political
theory has strengthened research tools in Political Science. iii Behaviouralism emphasizes that observable
behavior of an individual is the basic unit of analysis. Which of the statement/s given above is/are correct?

1) iand ii only
2) ii and iii only
3) i and iii only



4) 1, 11 and 1ii

fArfaf@a Fya W AR AIfST | caggrae Tafas ARG 1 fTaRY F 7 Faag 3R dfgs
sfaer & ®7 &, T F1$ cyagiRe TfAwdr A8 §, GRS Fa1 ¢ | ii TeRaA T AT F
AT Tl liaen TG @ TTeiiicl AT & QAT IUFION I AT AT T | iii STIGRATG 37 a1
W &aT ¢ B safFa 1 wfaeroiiy sqagr fvawyor i 7w 397 3 sudwd Fy=t A @ AR
R ?

D) sraer i 31N i

2) et ii 3N iii

3) &raer i 3 i

D i ii 3R

Ques # :39

Which among the following is not a shortcoming of Behaviouralism?
1) Behaviouoralism ignored the special responsibilities of an intellectual.
2) Behaviuouralism emphasized on what is theoretically important rather than on what is measurable.

3) Behaviuoralism concentrated on phenomena that is readily observable than on covert factors which contribute
to change.

4) Behaviouralism was unable to deal with value concerns to describe the nature of a good society.
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Ques # :40

Among the following statements, which one is not correct for the Post Behaviouralism :
1) It emphasizes on the applied knowledge

2) It focuses on macro level analysis

3) It analyses the content of the decision

4) It supports the status quo.
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Ques # 41

Not related to responding to Behavirouralism's accusation of decline of Political Theory :
1) Eric Vogelin

2) Michael Oakeshott:

3) Leo Strauss

4) Peter Laslett
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3 oy et

4) deT e

Ques # :42

Identify the incorrect pair of School of thought and related Author
1) Viena Circle - Moritz sclick

2) Cambridge School - John Dunn

3) Frankfurt School - Louis Althusser

4) Chicago School - Harold Lasswell

frar-weverT vaw st dws ¥ el 3 F wgfav
D) fager gfdhet - ARest R

2) TSt Thet - et 51

) S el - ofg YT

4) RFTN Fepe - &S AT

Ques # :43

Identify the incorrect statement regarding David Easton's Input-Output Model :
1) It aims to establish equilibrium

2) It's an open system

3) It's a sub System of the Social System

4) It's a flow modal

37 $ee & e ot e @ wrafewa TRl e 7 weenfare:
D) Tz ararawr i g e 1 3R afeaa §

2) 7§ el caeAT §

3) Jg TATS-cTTTUT T 3U-TIEAT &

4) I yarg- gl §

Ques # :44

Match List | with List Il and select the correct answer by using the codes given below:

List-l List-11
Name of Approach Basic feature of the Approach
a. Structural-Functionalism i Study of formal legal rules
b. Institutionalism i Study of informal rules that govern institutions
c. Political Culture i Study of political systems in the broadest sense
d. Neo-Institutionalism iv Study of basic political attitudes of a population
1) a-1i,b-iii, c-ii d-iv
2) a-iii, b-1,c-iv, d-ii
3) a-ii, b-iv, c-i, d- iii

4) a-1, b- 11, c-iii, d-iv



I w o | # A e AT A BT 9 o A § #Er 35 9 Odd S
| T o
FIEH T AH IUETA AT HET &

a) TOWcHS- gERaE i) dUeRe duieE ROaAt & Henas

b) HrumE ii ) 3=t FOAT & 3T, @ Hewr @ Oag g
c) TSAIOH HER iii) caTTEdH 3t F T ioE cOTEYH T M
d) =9 HedER iv) ST T AT HEGEAT = 3eaaw

FT

1) a-i,b-iii,c-iid-iv

2) a-iii, b-1,c-1v, d- i

3) a-ii, b-iv, c-1, d- iii

4) a-i, b- ii, c-iii, d-iv

Ques # :45

The approach adopted by Neo-Institutionalism to study informal rules is:
1) Philosophical approach

2) Historical approach

3) Sociological approach

4) Legal approach

It AR & reqTsr F AT F9 GTYEE S ) 3URH AIAATE 9 &
1) greiferes sarer

2) ¥fderfaes 3umTH

3) gaETSTRITE 3TTH

4) denfere 3ureTH

Ques # :46

Which of the following is not a valid criticism of the Structural-Functional approach?
1) It is mainly concerned with a system's survival

2) It is ideologically inclined towards conservatism

3) It is not suited to analysis of power relations in a society

4) It projects Western capitalist systems for the developing world

fArafaf@a & ¥ Sl TREacHS- YHriarg i IO sTaaar Agi § 2

D) a1z 7w w9 & cgawdr & 3eRaTor § HEefaa §
2)éﬂrﬁ$mﬁagmﬁr3ﬂ?g®§é%

3) FHATST 3 2AFd- FFa &1 faeavor e & v 77 Rgia 3uged 76 §

4) Ig TOgid I1eeTey Yohare! eqaen &l fashrasiiel faea & fore 3ugerd adrars

Ques # :47

To which stream of Neo Institutionalism, James March and John P. Olsen are related to :
1) Normative Institutionalism

2) Rational choice Institutionalism

3) Historical Institutionalism

4) Actor centric Institutionalism



SFg AT 3T AT FY. 3NeTT FT GFae AqHEATEE H FTFaRT A ¥ -
D) arerhra Temae

2) fIHT T GEUTETG

3) Pferfe TeumEE

%) Fedt Fiegd HEAmET

Ques # :48

Accusations of Neo Institutionalism on Behaviouralisum, do not include :
1) Methodological Individualism

2) Reductionism

3) Utilitarianism

4) Internalization

ATHEYTETE A STTERATE I AT ITAIT o §, 379 wieafora 78t & -
D) wgfa donfers cofeaae

2) rqerarg

3) suaifardamare

4) 3msadieTor

Ques # :49

According to C. Wright Mills ' Power Elite ' comprises of :
1) Big business,Military and Media

2) Political cliques, Media and Bureaucracy

3) Military, Media and Political cliques

4) Big business, Political cliques and Military

HY. Tge Aew F AR " qfaw vele " # afFAfaa §
D) a3 sgaam, d= 3k Az

2) qreretiferes e, #1aT 3R ey

3) Qr, #hfEar 3 ToATe e

4) 3 sgaET, Terhfas age X d=r

Ques # :50

Match List | with List Il and select the correct answer by
using the codes given below:

List-l List-lI
a. Wilfred Pareto i. Iron law of cligarchy
b.Gaetano Mosca ii. Governing and non-governing elites
c.Robert Michels iii.Capacity of organization
d.Max Weber iv. Competition for political leadership
Codes:
1) a-ii, b-iii, c-1i, d - iv
2) a-iii, b-iv, c-i, d-ii
3) a-ii, b-iv, c- i, d-iii

4)  a-, b- i, c-iii, d- iv



AT | @ HI I E gATWG Fier 3 A B aw s
# # HET 3R F gI4A FAT C

o -1 = -1
a. f@einsr Tt i. AeTaT & Hig WA
b.FeET A ii. ST 3T FATamETT FTEEA
cae FEed iii. HETEA FT SFEAr
d.#Fg iv. T Tics #ged & ToiT Fiaede’

FT

1) a-ii, b-ii, ¢ -i , d -iv

2)  a-iii,b-iv,c-i,d-ii
3)  a-ii,b-iv, ¢ -1 d -iii

4) a-l,b-ii,c-iii, d-iv

Ques # :51

As a concept of Power, Group theory holds that i. Groups are largely autonomous and independent centers of
decision making. ii. Group are interdependent and tend to balance each other's power. iii. Groups can be
classified into dominant and dependent categories. Which of the statement/s given above is/are correct?

1)1ionly

2) ii and iii only
3) i and iii only
4) iand ii only

AfFa $Y IraurRon F T 7 FHg Rgred Arerar ¢ @ i 9 v Farra 3R Rfrea-fasior &
Faad &g gl § ii. THE Hafni A1 ¥ 3 vh-g@ it afFa ) agfora w39 ¥ i, wopgi A
gerFaare AR i ATorat #F aeffera frar S aar ¢ 39w & @ Flaard a1 7@ 882

D &aeri

2) et ii 3R i

3) Faet i AN i

4) Faer i 3

Ques # :52

Which of the following is an incorrect assumption of the Rational Choice Theory?

1) Ends and means can be articulated accurately

2) Power holders use power to advance their interest and block the interests of their adversaries.
3) Risks and opportunities can be correctly assessed

4) Individuals take decisions without reference to what others may do.

syt au= Rgea 6 frafaf@a # ¥ St Aegar Toa §:

1) gy 3R arereT & GEY ot ¥ HTHeaad T o §haT

2) QT ek QUTercT ST AT 3791 gt ot 31fAG T 3rey fafera & 3l Y Jehed & felw st 8
3) ShTE# 3R 31aaRt T ALY JTheleT AT ST Hehell &

1) afea AT ad &, e T 81 1 3T T T T Tha &

Ques # :53

Assertion(A): Rational choice is the approach to political analysis that examines how decision-makers can
make efficient use of means to obtain their ends. Reason(R ): Human beings are rational.

1) Both A and R are individually true and R is the correct explanation of A.
2) Both A and R are individually true, but R is not the correct explanation of A.



3) A is true, but R is False.
4) A is false, but R is true.

FUA (A) FIEFT Ta Tereiifae faeerwor Y a8 3urrT §, S 59 a1 & Jia a3 ¢ o RAferea-
forATaT 3 AT T FRA ITANT FI & TR T HY AT FT Fehel o] FRUN(R ) AT el
g1 &

D A 3R T T & 3R, A 1 @ carear §

2) A 3R ST TcT & AT R, A ST TEY AT 78T ]

3) A HcT AT R T E

YA NTTEIFAR TR

Ques # :54

In which type of political system based on political Modernization, as described by Edward shills, commitment
to a specific Ideology is the most important ?

1) Political Democracy

2) Titulary Democracy

3) Modernizing Oligarchy
4) Totalitariani Oligarchy

vzas RIeH @ aftid et Ay iAo o 3menid Tereifae sqaedr & 9 &9 J
fareay fremamr & fore gfdaeear gaifs ageaqet id &2

D 3retstifares depe

2) T8I AT

3) 3myfedrardy aate

%) gatfareRard aefd

Ques # :55

The feature of Political Development ,identified by Lucian pye as 'Equality', has been termed by Almond as:
1) Autonomy of Sub System

2) Cultural Secularization

3) Role Differentiation

4) Capacity

Terelifae fAsr & fore oator Y FfAAeT a1$ "WHAT Faal 8,39 IHTHS GaRT FeT o1l o
1) sucgaear $r Targaar

2) giEsiaes dtferdhaor

3) syfren RfSwefieor

4) arerar

Ques # :56

Among the following scholars, who studied Political Development in Pakistan :
1) L.Binder

2) David Apter

3) Coleman

4) Riggins

qifdEarer & Torsiifae s 1 sreaaer fasafera # @ fre faeare garr fFar a2
D var iz
2) 33 Teex



3) Frade
) R

Ques # :57

Which scholar has considered the existence of Leftist and Rightist forces essential in a political system to
balance between the 'Equality ' and 'Capacity' ?

1) Organski

2) FEW.Riggs.

3) Samuel Huntington
4) Jaguaribe

T faearer & @Rt ¥Har 9 &ar & Hdad F AT Tereifas sqavar 7 aerad) 7 gfaroradt
AfFaal Y RAgaaATTar I 3Taeds AT 4T 82

D) sififeahr

2) uwh seel Red

3) ep3ret gfeares

4) SraRTEs

Ques # :58

Which scholar has classified Political Development into two stages of Limited Modernization and Mass
Modernization ?

1) Organski

2) Milowon Djilas
3) Eisenstadt

4) Sydney Verba

forer fagarer  wrereifaes s ) @iffa smyfadretor vas sre sy fahisorga o avo &
geftepat R &2

D) sififewehr

2) faretaret foreme

3) amgaets

MAGESIEE

Ques # :59

What among the following is not included in the classification of political culture, as described by S.E Finer-
1) Mature Political Culture

2) Developed Political Culture

3) Low Political Culture

4) Middle Class Political Culture

TH.$. BIEeR IRT aTTd Tereifares GEpfadl  gaffaor & fAeifea # & a1 afeafaa 7 &:
D) afraera Trstehifaes deptar

2) fa e Tetehfaes Tepfa

3) foreT et SEpfa

4) sttt ToE GEFR

Ques # :60

In the context of Political Socialization, who has discussed the 'multi dimensional flow of influences?



1) Almond and Verba
2) Rush and Oltoff
3) Peter Merkel

4) Ericson

TSt foreh WTATSIIOT & Hest # fhuat vaimal & SgamarH! varg 61 7t $ §2
1) 3m#is v g«

2) 391 UaA 3ieei®

3) drex Fh e

4) wReaa

Ques # :61

After Second World war, the objectives put forwarded by Almond before the Scholars for Comparative
Politics, do not include:

1) Search for more Comprehensive Scope
2) Search for Realism

3) Search for Precision

4) Search for Institutionalism

i faeaT Ieg & 39N, ToATcHE Totellicl & AT FaTil & HET HTHS 7 A 7T 3227 W,
I8 giEAfaa T &

l)ﬁﬁﬁﬁﬂﬂ?ﬁ?ﬁm

2) garare i @ret

3) gfaRadar fr @

4) FETaTe i @t

Ques # :62

The reason, not responsible for the decline of Historicism in the study of Comparative Politics was:
1) Cultural Absolutism

2) Positivism

3) Philosophical Pluralism

4) Cultural Relativism

JelATcH® TSTaia & N A 3fAgTHaATG & TeTeT HT FWOT 751 AT:

Ques # :63

Consider the following Statements: (i) After the enforcement of Globalization Policies, an International order
of Secular Mediavalism has been established. (ii) International organisations and the politics of ideality have
challenged the sovereignty of Nation-States .

1) Only i is true

2) Only (ii) is true

3) Both (i)and(ii) are true
4) Both(i) and (ii) are false

fasafra Fyat o3 fam fFS: (i) spselistor F1 oAt & gade F 915 § AFeR AeggfiaTar Hr



HAWTSENT STGEAT FIAH 81 3TE ¥ (ii) HATSET FEATHT TTH YgaTe o STl F IASe-T= hY
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D) Saer () g &

2) e (i) AT §
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) ()Td(ii), et 3T &

Ques # :64

Consider the following statements regarding Post Colonial State : (i) Governability is a continuing and
growing concern for Post Colonial State (ii) It distinguishes a Strong State from a merely'despotic'one

1) Only(i) is correct

2) Only (ii) is correct

3) Both (i)and (ii) are Correct
4) Neither (i), nor (ii) is correct

Ica? IfAAfRIE T & desf # Aeifrd Fy«a W AR AIfST () venraar scar-3ia@ R
=7 ¥ A a3 adame TR ¥ (1) TF 76 Tod Fr G asT § Best Far |

D aer (i) wdr &

2) FaeT (i) T |

3) (i) 7 (ii) ax=T TEYE |

) S (i) =1 & (i) TE Y |

Ques # :65

Which model of Representation is supported by the conservative theory of Representation
1) Trustee Modal

2) Delegate Model

3) Mandate Model

4) Resemblance Model

yfafaftca 1 wieare) Regia yafafcg & 7y yfawT Fraada sared
D) =arefr wfaww

2) yegrafora wiasa

3) Sreger wfawy

) geeTdr yfaey

Ques # :66

Read the two statements below and select the correct answer from the codes given below: Statement I :
Comparative Politics shows institutions and practices,that work both better and worse than our own.
Statements II : Comparative Politics raises and answers Question about why some countries are stable and
prosperous while others are not. Codes

1) Statement I is true.
2) Statement II is true.
3) Both Statements I and II are true.
4) Both Statements I and II are false.

frrafaf@a ot wu=t #Y 18 3t e R 7T Fe 7 F 78 3ca 1 99 FI: FIT 1: JAACHE
TSI 3 T3 3R TLU13T Y T &, S AX Aga AT @G FH FIAT ) FYA 1 JeAAHS
TS ¥ weeT FoTelt 3 FeraT 3eav &t B, o i T dor e il wope €, el s i )
%c:

o
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Ques # :67

Match List | with List Il and select the correct answer by using
the codes given below:

List-I List-11
i. Facts a. Predictions about Statements or events
ii. Theories b. Systematic ways to acquire facts
iii. Hypotheses c.5tatements about relationships of facts
iv.Methods d. Generalizations or sets of generalizations
v. Findings e.Discrete bits of information

1) i-a,ii-b,iii-c,iv-d v-¢
2) i-e,ii- d, iii- a, iv- b, v- ¢
3) i-e,ii-d,iii-b,iv-c,v-a
4) i-a,ii-c,iii-b,iv-d, v-¢

I w g E ARG fiET #N A B o w5
# W WET IR W ThA ST

o - T -
il T a. FYAT AT TeAHT F TN F THeUT
i. e b. =0t F1 9Ied &l & cOgiead ois

iii ST C. Tt & OEaeer & gy F wua
iv FEEIfe d. HFATHERA0T A7 A0 & HHead

v IR e HO=l & HeTdr 3T

1) i-a,ii-b,iii-c,iv-dv-e
2) i-e,ii-d, iii- a, iv- b, v- ¢
3) i-e,ii-d,1ii-b,iv-c,v-a
4) i-a,ii-c,iii-b,iv-d, v-e¢

Ques # :68

Which of the following statement about the Political Economy perspective is /are correct? Select the correct
answer from the codes given below. i. Political economy studies the intersection of economics and politics ii.
Political economy investigates a country's economic policies. iii.Political economy investigates about the
interests which drive a country's economic policies. iv.Political economy causes stability or breakdown in a
political system. Codes:

1) 1,ii and iv are correct

3) i,ii,and iii are correct

4) i,iii and iv are correct

frafaf@a & ¥ voeiifas srdegarr tReRrF M A FA FaT I AT RUeaTHFe 7@
HEY Seal T TG AT i. TSTelfere rdegaer rdeme 3R A & ST HT reqqal Flcdl &
ii. TeTe o rdeaaraT va gor i e ANfadt HY ra wIA § ii. Tsrenfas rdcgaryr 34 fgal
Y ST AT § , 3 Tk 2T 1 3T Afaat w RERT w3 § iv. Torefas srdegasyr to+ifas
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Ques # :69

Which of the following approaches of the study of Comparative Politics holds that decision makers can make
efficient use of means to obtain their ends?

1) Game Theory

2) Rational Choice theory
3) Institutionalism

4) Neo - Institutionalism

feafaf@a # @ qaarcas Ui & reaaa F1 HleTar 35TH I§ Aar ¢ & Afeay -t
39 {TET HY Yo FIT F TT AT HT FAT TAT FT bl 82

D @e Rged

2) fyaequt Tae Rigred

3) gEumarg

4) Ag-TEUTEE

Ques # :70

Which among the following is not a feature of a Totalitarian State?

1) Government defines pubic interest

2) Political opposition is treason

3) Official ideology defines happiness

4) Role of government is mainly limited to taxation foreign policy, law and order.

fafaf@a ¥ ¥ Flad) gaifReRaE) T ff Reyar a8 &2

D) gréaifare fear ) aver aRenia el &

2) reifaifaes faer dergie

3) TSI FAIRERT € 37Teie; T IRHATNT HIAT &

4) TR B 7T T FIRT, fager N, Feget 3R caaear g g @ g

Ques # :71

Which among the following is a weakness of the Functionalist approach of the State?

1) It tends to associate any institution that maintains order with the state itself

2) It looks upon the state as an institution to bring about classless society.

3) It fosters an uncritical reverence for the state.

4) It fails to distinguish between institution that are part of the sate and those that are outside the state.

frfaf@a & ¥ sl Uo7 F vertcas Rewor i FAand §

1) gz fordlt ofy Eer o7 ST STaEUT ITT TW 1 1 AT & 9T & 91 1S & B
2) Ig T T UEY TEAT & &G H @A &, ST aeTéleT TATST ol EATTT ahiaf|

3) Ig T & 9fY IR 3TelraeTcAS sfFd-aa e fAa i g

) I 3T GEATHT & ST 37T AEY T U1, S T & 197 & 3N S T & Fe |




Ques # :72

A Scoial-Democratic sate is an interventionist state primarily to:
1) Bring about social restructuring based on social justice

2) Bring about industrial growth and economic development

3) Bring entire social life under sate control

4) Bring about domestic order

AT Shdifeas Tod FET T § T gEaardl Ts7 ¢

D) arenfare = @ smenfya ararfoe qefetAior w5 & fow
2) 3T Hafts 3R 3nTie faerd oot & forw

3) ot FrTforE Shaet Y T & faz=or 7 o & fow

4) e TTEAT oot & faw

Ques # :73

Match List | with List Il and select the correct answer from the codes given below:

List-I List-11
i. Pluralist state a. Destruction of the class system
ii. Marxist state b. Eradication of Patriarchy
iii. Welfare state c. arbiter between competing social interests

iv. Radical Feminist State d. Emphasis on expansion .

Codes:

1) iiiiivabed
2) iiiiiiivecadb
3) iiiiiiivbadc
4) tiiiiivecabd

T g IE AN ST HT A 'Y A S
# & HE I W O4E S

T - T i
i. @godrr Ied a. T COGEET @ il
ii. FAFHAET A9 b. FTEaT & SeAAA
iii. FEOOTRRT =T c. FaeTelf FAes Bar &1 T
iv. 3 AFNEET =T d. BT 93 g
1) tiiiiiivabced
2) iiiiiiivcadb
3) tiiiiiivbadc
4) iiiiiiiveabd

Ques # :74



Match List | with List Il and select the correct answer from the codes given below.

List 1 List 1l
i. Minimal state a. rectify imbalanced injustices of a market economy
ii. Developmental state b. exert control over entire economic life

iii.5ocial-Democratic State ¢, Decide conditions for orderly existence only

iv. Collectivized State d Decimate civil society

v. Totalitarian State e promote growth and economic development
Codes:.

1) iiniivvabcecde

2) iiiiiiivvcadbe

3) iiiiiiivvbadec

4) iiiiivvceabd

AT I3 {4 i F AT R MY A Br s A &
TET 30% 1 9O+ FifaT

e i o i
. Heaed Ted a. SN HACAGES & Hedl HT GT HLAT
ii. TEreraTET T b. 90T 3TE® Sfas 9T =0T @ar
iii. AT Wil Tsd C. SHae caaiedd o & a6l a7 &
iv. HEEaET g d. AR FATH FT 75 FL &7
v. TaEEFEaET 17 edgies AT THF @FW & e
T
1) iiiiiiivvabcde
2) iiiiiiivvcadbe
3) iiiiiiivvbadec
4) iiiiiiivvceabd
Ques # :75

Regarding types of Political Parties, which Political Scientist, among the following, coined the term catch-all
party'?

1) Sigmund Neumann

2) Otto Kirchheimer

3) Anthony Downs

4) G. Sartori

TSAIAF gall & YR & IR # Arafaf@a & ¥ frw tefafas dafas 3 F-3vea ardh asgaet
T JEAIT T 2

D) sz =g@e

2) 3eY i

3) vy s

4) S Eey

Ques # :76

Which one of the following is an incorrect match?

1) Cadre party: Nazi Party in Germany

2) Mass Party: Labour Party in England

3) Constitutional Party: Communist Party of Soviet Union



4) Representative party: Indian National Congress

Frefatera # & wtoren qo wd ot §

1) &s< arét: Sratetr 3 relt aref

2) Sttt aret: geels 7 eraw ardt

3) rentores Tt AT e e o
4) yfafaearcas il ARAT TSET FHE

Ques # :77

Representation as a function of political party implies:

1) Capacity of political party to respond to and articulate the views of members and voters
2) Aggregate various interests found in society

3) Formulate programmers and policies of government

4) Political education and socialization

TAAAF & & ThI & T H yfafafacg F1 Afgard &:

1) geeat 3 Aaeranst & Rt & 9fa 319e) a1 3@=1 3R 3¢ AT et T Tolifaes ol
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2) et 3 S 3 R A HoEN e

3) TR 1 At 3R FRiwAT Y AT e

4) et et 3R amaETsieor

Ques # :78

Which among the following is a specific feature of an Institutional Group :
1) Institutional group is founded on traditional loyalties

2) Institutional group is marked by common interest and aspirations

3) Institutional group advances shared values and ideals

4) Institutional group is part of government machinery

frafaf@a 3 & Flaeh g wog A T RAvard

1) WWHHH(\S IR fAsar3 O 3menRa grar g

2) FEATITT THg TAT fRa 3R 3ehietai ganr RifFed gar g
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4) FEATTA olg WX o F T AT AT §

Ques # :79

Which of the following is not a disadvantage of the single-member plurality electoral system?

1) The system leads to wastage of many votes secured by the losing candidate and the winning candidate in excess
of the plurality mark

2) The system leads to unaccountable government as legislature is usually subordinate to the executive, who has
majority in the legislature

3) The system leads to under representation of small parties and parties which have geographically evenly
distributed support

4) The system leads to a break of link between the representatives and their constituencies.

frafaf@a & & Flaar vha- Ferdr age TATd sqawuT 1 A9 78 82
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Ques # :80

Match List | with List Il and select the correct answer from
the codes given below the lists:

List 1 List 11
a. Specialization i use of files
b.Integration ii Corpus of rules
c. Predictability iii. Official duties, stable rules
d.Organizational Memory iv. Hierarchy of officials
Codes:
1) abcdiviiiiii
2) abcdiiiiviii
3) abcdiiiiviii
4) abcdiviiiiii

I F g e AT e diR A B e s
# W HEl SR W UhA Hia

- T -

a. ET=CEToT i. BE=H T ITAET

b. TERTERTOT ii. AT F TR

¢ Ta ATl iii. AT wocd, FuT WaA

d. HoeATAS TG v AESRET & 9EHe

i

1) abcdiviiii
2) abcduiiviii
3) abcduiivii
4) abcdiviiiii
Ques # :81

Wich one of the following pairs is incorrect?
1) Max Weber: dictatorship of the offical

2) James Burnham: convergence thesis

3) Robert Michels:circulation of elite

4) Trotsky: permanent revolution

Frefartera # & st aea 7o §
D) Srg qax: 31TRRY it drarengr
2) SFg S H: GATTREIT el
3) (¢ fArea: 31fAsTer &1 aRE=RoT
4) glerahr: TR Hifd

Ques # :82



Which model of Public Policy Making says that policies have to be adjusted in the light of changing
circumstances?

1) Rational actor model

2) Incremental Model

3) Bureaucratic organization Model
4) Belief system Model

ol ey T 1 Pleram wfaww g Fgar 3,76 Nt w1 agere nRfEufaw F R a@rs=
HLT ATfgT?

1) faaemsirer et wfasT

2) gt st s

3) FleRTATEY HaraeT wfawy

4) faearg cgaedr wfasq

Ques # :83

Consider the following statements: i. Liberals criticize bureaucracy as an instrument of class subordination. ii
New Right describes bureaucracy as self-serving and inefficient iii Marxists condemn bureaucracy for lack of
openness and accountability Which of the statement/s given above is/are correct?

1) iand ii only

2) ii and iii only

3) i and iii only

4) 1,11 and iii

T FyET | AR AT i IERAK) alateng i s g srefiaraar F T F T A
FIA § ii. ATETaroTadt ARy Y Fareft 3T srperer aar i ATFAATEY AR A srcdan
gorue 3R T e 1 ) & v e §) srded Fuel A § Fiaay F ah A

D) &aeri 3iii

2) &ae ii 3 dii

3) &aeri 3T il

D 1, ii 3R i

Ques # :84

Which among the following is the 'third sector' in a Political System ?
1) The state

2) The civil society

3) The market

4) The media

fArfaf@d & @ Flaar tafas sgaear & 'dawaad 2
I)W

2) SR AT

3) IR

4) Afzar

Ques # :85

Which among the following is not a feature of good governance as defined by Kauffman Kraay?
1) Rule of law and government effectiveness

2) Transparency and control of corruption

3) Political stability and absence of violence

4) Regular elections and recall system



srfater ey TR T o B A @ el Rraha e B,
D) ahreet apr et 31 ERaR Y Fpererar

2) UREfear 3R ek oY fFEor

3) Tifae Turfica 3T ar &1 &t g

4 frafia gama 3R aTaw gearedTst Hr cgaEd

Ques # :86

Consider the following statements: i. cultural globalization tends to 'flatten out' cultural differences between
nations, regions and individuals ii. Political globalization as world government is far ahead of the integrating
impact of economic and cultural globalization. iii Economic globalization now implies that no national
economy is now an island. Which of the statement/s given above is/are correct?

1) iand ii only

2) ii and iii only

3) i and iii only

4) 1, ii and iii

frrafaf@a Fyal W AR AT | arepfas dediwor e, aE 3k safFaal & aeg giepfas
faffeeransit w! wwaa #X &ar i g avaR & w9 #F tereifas dedieor snfis ik aiegfas
%eaﬁww#uﬁww#m#agam%iiimﬂw%&aﬁmmﬁ%mﬁ%,ﬁéaﬁu@w

I eTaEYT 3T &9 & T & AET TE Hehell | STYFA FYAT A { Fleqn F FTEE?

D &aeri 3iTii

2) et ii 3N i

3) &raer i 3 i

D 1, i 3

Ques # :87

Match List | with List Il and select the correct answer from the codes given below the lists:

List | List Il
a. Supranatioinalism i. Regional integration has a multiplying impact
b. Neo functionalism ii. Interaction between states on the basis of sovereignty
c.Protectionism iii. existence of authority above the nation-state

d.Inter governmentalism  iv. import restrictions to protect domestic producers

Codes :

1) a-iii, b-1, c-1v, d-ii
2) a-iii , b- iv, c-ii, d-1
3) a-iii, b-iv, c-1, d-ii
4) a-iv, b-1, c- ii, d- iii

I F g I E AT fieT #Y A BT AT e # W HE 39 1 g0 ST
T -1 Tt -1

a. 9 A i. ST THIEAOT & AU WEE BlaT B

b. 7T FEaE i TodT & #@g TWHAT & HEUR W TRETREAT

C. HIEUERE iii. LT F FIL TH FqA F AT

d. FOEAERAE v, U6 ScTEd § HIE F ST HIE widaner

1) a-iii, b-1, c-1v, d- 1i



2) a-iii, b- 1v, c- 11 d-1

3) a-iii, b-iv c-i d- ii
4) a-iv, b-1, c-1id- iii
Ques # :88

Which of the following statement is not true about the concept of revolution?
1) A revolution is a popular uprising involving extra-legal mass action

2) A revolution is rarely violent in character

3) A revolution brings about a fundamental change in the system

4) A revolution is different from a rebellion

frafaf@a & I wlaar wuer FIfa Hr guRoT Hr IRk A TE AGT &2
D) &ifd v 571 3R &, To9d RUaR o $as g

2) wpifer 1 agfar FeT-HHR Farers g &

3) spifey caraee & Hersd aRad o &

1) ifa fAge @ AT e &

Ques # :89

Indentify the incorrect pair among the following

1) Samuel Huntington : Invisible empire

2) Nkrumah : Neo-Colonialism

3) Raul Prebisch : Imperialism as last stage of capitalism

4) Andre Gundre Frank : Underdevelopment due to industrial capitalism

farafaf@a & @ Ffeget oo w1 Rfega fFfaw

D) daquer gfeates: 3reea wmATsw

2)U?I_9I(QT|T: Ad-39TeIderdie

3) Jter ufSer-geiaTe i 3T 3rawdr & 9 F AHESTaG
4) 3113 3 e e dearg & wRoT srenfasa

Ques # :90

' Rolling back of the state ' is associated with which of the following Concepts?
1) Privatization and liberalization

2) Globalization and welfarism

3) Development and globalization

4) Liberalization and modernization

=7 1 IS ey Prafaf@e & & fFa sauron & e
D fsiertor 3R 3erfieor

2) dedrentor 3R SeaTurare

3) feprar 31N dediertor

4) serirEvor 3R meyfadEoT

Ques # 91

Various Commisions were set up to investigate the communal riots in India. Identify the incorrect pair :
1) Manoharpur(odisha)Communal riot, 1999 -Wadhwa Commission
2) Mumbai Commission riot, 1992- Shri Krishna Commission



3) Meerut Communal riot, 1987- J.C.Shah Commission
4) Bihar Sharif Communal riot, 1981-Bala Subramaniam Commission

AR # g e arverfas &aif i st & fore smaer e fve are (g & qRqot ga A
L FEECT LY

D) FeeXqT AresieTiiss &3t 1999(3Nf3am )-arerar smier

2) e AFTEITA &3, 1992- HHEOT AN

3) AXE WFIETAF &3, 1987- .H.AMME 3mArar

#) foERNIE AFETRA e, 198 1-STeTSHUIH T

Ques # :92

To Whom does ' Laakso Taagepera Index ' is related to :
1) Gender inequality

2) National Party System

3) Linguistic Planning

4) Peasant Mobilization

ATEFEN-ARIRT T FT FFaey fararfea F § frad @2
1) Jiferer gA=Tar

2) Irsérg gl Yol

3) sremRiY et

) frgTeT THEET

Ques # :93

For the merger of which of the following political party, Ashok Mehta presented the 'Doctrine of political
compulsions of backward economy ' ?

1) Praja Socialist Party

2) Utkal Congress

3) Sanyukt Socialist party
4) Krashak Praja Party

HRAT AT FRA A o Trifas ga & e & fae sras Agar a 'Rad) srdcgaear #
Tatetifore fraeransit 1 g Teqa frar an?

D) g arerforee ardt

2) Scahel I

3) wgara Arerferee aréf

4) Fve g AT

Ques # :94

Identify the incorrect pair of various fractions of Janta party, formed in 1977 and their respective leader :
1) Congress (organization)- Morarji Desai

2) Bhartiya Lok Dal - Choudhary Charan Singh

3) Swatantra Party - Hemwati Nandan Bahuguna

4) Bhartiya Jan Sangh-Atal Bihari Vajpayee

1977 & &Y Setar arél & AT el vawr 39@ wafta aar & Ryt oo F wganfav:
D) Tt Hida-ARRS TS

2) AR cliehe ol TRy TRt

3)



D AT FTHY- o TRy arsad

Ques # :95

Among the following statements regarding Sikkim, the incorrect one is :
1) By the 35th constitutional amendment of 1974, Sikkim became the associate state of India

2) The 35th constitutional amendment facilitated Sikkim to send one representative each in both the houses of
central legislature.

3) Sikkim as a full fledged state became a part of Union of India by the 36th Constitutional amendment of 1975
4) Article 371 F was inserted by the 36th constitutional amendment

Raferrsr & st o Frwerifieer et 3 & gt ¥:

D) 35 & afqemer w2ies, 1974 % garT RfFad AR 1 g T3 a1

2) 35 § wfens weiu & Rafaer S caaeanfis & at dest 7 th-ush gfafafe e &
&P sl

3) 36 & wfaue Heler=T ,1975 % ganT Rfada siRa & 7 qof U7 & &9 7 afFafad gan

4) 35 § wfaere HeNee ganT Jeeoe 371 T ia.Ffa fr

Ques # :96

Identify the incorrect pair of the existing state in the Union of India and the demand for creating a new state
theirin :

1) Uttar-Pradesh - Harit Pradesh

2) West Bengal- Kamtapur

3) Bihar- Mithilanchal

4) Karnataka- Maha Kaushal

R T & e U7 vad 30 fiaw a3 Us i AT F1 Ffeqot 3o ¢:
D scar ueer- gRa wewr
2) qfRes FaNd- HIHAATR

Ques # :97

The idea of ' Non-Party Political structure ', regarding the social movements in India, was presented by :
1) Rajni Kothari

2) Ghanshyam Shah

3) Yogendra Yadav

4) Amita Baviskar

HRT H AT 3MTealeall & et #' IR gellr Tereifas Frears R yeqd 1 are fgar
&

D) oo sprerdy

2) "eIeaTH ATE

3) Treg Area

4) AT ST

Ques # :98



What among the following is not included in the type of Social Movements ,propounded by M.S.A.Rao in his
book ' Social Movement in India ' :

1) Revolutionary
2) Reformist

3) Evolutionary
4) Alternative

TH. TH.T.IE GaRT a1 GFaa' W HIACH 31 3134 7 wfaarfea arnfar snciesi & gart &
frrafaf@a F d aFafaaadi e

D) sriferamdy

2) gurRaTdr

3) Zefasraardr

4) depfous

Ques # :99

Identify the incorrect pair of Social Movements and its category
1) Tebhaga Movement- Peasant Movement

2) Satnami Movement- Tribal Movement

3) Chipko Movement- Enviormental Movement

4) Nirbhya Movemnet- Feminist Movement

AT g et I aTehr Aol & Ffeqot Jao FY vgafaw:
1) 381191 31ecoret- fonaTeT 31icieret

2) HAATHY HTeCole- STATAT Tearets

3) FRI9eRY 3TTeeTele - TATaRONT 3MTeeToleT

) 31T 3MTeeToret- ARATET 3Tearelel

Ques # :100

Incorrect statement regarding the woman representatives of Rajasthan is

1) In 16th Lok Sabha,there is only one Woman Member from Rajasthan.

2) In 14th Rajasthan Vidhan Sabha, total 27 Women Members have been elected.

3) In 14th Rajasthan Vidhan Sabha, the highest Women Members have been elected from Ganganagar District.
4) In 14th Rajasthan Vidhan Sabha, two Women Members of Indian National Congress have been elected.

TerEdTe 7 Afgan st wfafaftrat & west 7 afeqet Fuer 3:

D) Grgardt Seras i & ToTedT ¥ Fad U Afger 96 §

2) diegdt T ftTeTae # of 27 Afgen Heed A g5 §

3) et Torear faneras # gaifts Afeer e TR oo & Feifad gs §
4)ﬁmmmmwmﬁmﬁammﬁaﬁagé’%

Ques # :101

Sate, not affected by the 100th Constitutional Amandment, is :
1) Tripura

2) Sikkim

3) Meghalaya

4) Assam

100 § Tigener wenes @ rfRa =T &
D frgn
2) rafewn



3) AT
1) 3rgH

Ques # :102

After being appointed as the Chief Minister of Rajasthan, who among the following became Deputy Chief
Minister?

1) Heera Lal Shastri

2) Tikaram Paliwal

3) Mohanlal Sukhadia

4) Jai Naranyan Vyas

AT HT HETHAN g g1 & a1g Arafaf@a & & frd 39 FegwE gar 7 =
1) &rretrer ey

2) ENTH grelaret

3) ArgeTelTer gafsar

4) FTIARTIOT =T

Ques # :103

Who is the author of the book, 'The Congress Party in Rajasthan?
1) Lloyd and Susanne Rudolph

2) Rob Jenkins

3) Richard Sisson

4) Myron Weiner

& HIAW YTES 3o ASTEYTT' TEAF & G Hlel 82
D) difars 3R g weew

2) 3fe e

3) RS e

4) AR deR

Ques # :104

In 1974, Bhairon Singh Shekhawat was elected as a member of Rajya Sabha from which state ?
1) Madhya Pradesh

2) Rajasthan

3) Uttar Pradesh

4) Haryana

1974#ﬁﬁﬁ?amﬁmm#mm$mﬁaﬁﬁa§w
D) e geer

2) qreTEaT

3) SeaR wger

4) gRamom

Ques # :105

Which among the following is an incorrect trend of recent electoral politics in Rajasthan?
1) The gap between male and female voter turn-out is reducing after each Vidhan Sabha election since1993

2) There has been a significant increase in the representation of deprived communities in State Assembly and Look
Sabha



3) Voter turn out is higher at the LoK Sabha level than at the lower levels
4) Electoral competition has become Bi polar.

TSAEYT FT FAATATS AT Tatehifer it Arafaf@a & & sl ygfa e -

D) 1993 & are; g farerr @e et o qw 3R Al Aqaranai % drer Ader # 3R R w8
oINS

2) faene g 3R Srer e & afea et & gfafafcs # mgcaqoT g gs &

3) S 3 TRt 43 T o¥ ol WY 3 et 3 g &

4) gerrer wfaeaet gfa- g s s &

Ques # :106

Consider the following statements about the XVI Lok Sabha election: i. The NDA won 336 seats and 37.3 per
cent vote share. ii. The BJP won 282 seats and 31.1 per cent of total votes polled. iii The UPA won 54 seats
and 23.0 per cent of total votes polled iv The Congress won 44 seats and 19.0 per cent of total votes polled v
The Left Front won 12 seats and 4.8 per cent of Total votes polled. From the above, identify the correct
statements

1) Only ii,iv and v are correct
2) Only 1 ,ii and iii are correct

4) Only iii iv and v are correct

Hiergd die W1 of1d & aR A rafaf@a wyat w e w3 i T & 336 ¥ 3R Fa 7aers
T 37.3 gferera grea fmam i, dh.ardY. & 282 TuTet 3R Fer AAGTT F7 31.1 WA wred fFAw i@ ¥
54 T AR FoT FAeTer HT 23.0 Tirre wree T iv. FTAT A44 TATT 3 Fer ATSTT F719.0
gfcrere gred foRam v aret A A 12 Tt 3R Fo Al 7 4.8 Ffaerd yrod 6 3ud+d & 4 7@
HYal F1 RfFga AfFT:

D &aerii, ivailvagre

2) Faeri, i AN GEE

) Faer i, iv 3R v T E

Ques # :107

Match List | with List Il and select the correct answer by
using the codes given below:

List | List 11
Political Party Establishment Year
a.Justice Party i 1925
b. Shiromani Akali Dal ii 1932
c. Hindu Maha Sabha i 1917
d. National Conference iv 1936
e. Unionist Party v 15921

1) a-ii, b-iii,c-iv,d-ie-v

2) a-iii, b-v, c-i,d-ii, e-iv
3) a-ii, b-iii, ¢c-i,d-iv,e-v
4) a-i,Db-ii,c-1iii, d-iv, e- v



| 1@ HAT IE A ey A S B oaw
FT A ¥ HEr 39 F 904 FAT

il T -1l
TAAIF & T a
a. SeeH T i 1925
b. MR 3FET g i 1932
c. Tewg HEEsT iii. 1917
d. A FiAE iv. 1936
e . AOEE el v. 1921

1) a-ii, b-1iii, c-iv, d -1 ,e- v

2) a-iii, b-v,c-1,d-ii,e-1v
3) a-ii, b-iii, c-i,d-1iv,e- v
4) a-i,b-1i,c-1ii,d-1v,e-v

Ques # :108

Assertion(A): In the first three general elections, India produced a 'One Party dominance' model, which is
different from 'One Party System' Reason (R ) Congress enjoyed exclusive control over governmental powers
at the center and in most of the states

1) Both A and R are individually true and R is the correct explanation of A

2) Both A and R are individually true, but R is not the correct explanation of A
3) A is true, but R is False

4) A is false, but R is True

a:errr(A):mmm?mﬁ,mﬁ'wmm'mmﬁmgm,mwm
TEYT A e & FROT (R ) Fg 31 3rfAwier U= & FAW FT TFH) AfFT I 37 =07 47|
D ARREET aca € 3R R, A Hrady sarear

2) ARRAA TSI EAFAR , A F G&Y TTEAT AT &

3) AT, AfFT R IR
DANETE, AfFTRTTE

Ques # :109

Match List | with List Il and select the correct answer by using

the codes given below:

List | List 11
a Rajni Kothori i Third Electoral System
b. Paul Brass i Democratization and decay
¢ Yogendra Yadaw i Post-Congress Polity
d. James Manor iv Congress System
e Suhas Palshikar v Disintegration of Congress organistion

1) a-ii, b-iii,c-ivd-ie-v
2)  a-iii, b-v, c-id-ii, e- iv
3) a-iv, b-v, c-1, d- 1, e- il
4) a-1, b-ii, c- iii, d- iv, e- v



g I E AT FiET AR A BT o e # # #5er S W O ST

T - T -
a. TAAT FISHT i. T Waee caaedr
b. 9T Fm @ i. AEwgaELe HY Taw
. TR TEd iii. I FET diET
d. 3Fg #a7 iv. SHEE SoaEdr
e HEH AT vV  TEH oA @ Eded

1) a-i1, b-ii1, c-ivd-ie- v

2) a-iii, b- v, c-1 d- 11, e- iv

3) a-iv, b- v, c-1, d- 11, e- 1ii

4) a-1, b-i1, c- 111, d- iv, e- v

Ques # :110

Which among the following is not a recommendation of the Dinesh Goswami Committee for electoral reforms:
1) Rotation of reserved constituencies for candidates of Scheduled Castes

2) Voting to be made Compulsory

3) Ban on corporate donations to political parties

4) Provision of Referendum in Consititution on issues of public importance

Frefatere # & Sterelt RITRer ST qUR & Fre aifder faster siveaeh aRfr Aradi 3
D) 3o s & geanfait & o 3mfard 83t 1 ashrrsha

2) Fcrerel &t 3iTerars e

3) TSI it T T EarT g1 R gfdser ST

1) grdsifas Agca o HEl 9 FIATe H Seh{oI0T ol JTaie] e |

Ques # :111

Assertion (A) :The place of women in Indian Politics reflects the opportunities and constraints that are
associated with its democracy. Reason (R ) :Women Have been key actors in the numerous social movements
and non governmental organizations that underline India's vibrant civil society.

1) Both A and R are individually true and R is the correct explanation of A.

2) Both A and R are individually true, but R is not the correct explanation of A.
3) A is true,but R is false.

4) A is false ,but R is true.

FYT (A): HRATT TSI 7 ATFe3 T TS swd dvaa F GFafta sraasi ¥ arensit @
g TaId YT 8] FROT (R ): AT 37 AT 3eatest 3R IR aXFr wersat # g7 syfAe
FT forale wTa W 8, 51 9IRa & Sad arerie-warer & safafed &

DA dRREAT G E 3R, A T G earEan ]

2) AR R AT G & AR R, A ST TEY AT 78T |

3) A T &, At R 38T &

4 A3\ Y, AfFA R TT &

Ques # :112

Which one of the following factors does not constrain women's participation in Panchayati Raj Institutions?
1) Dearth of financial resources

2) Uncooperative Bureaucracy

3) Constitutional prejudices



4) Violence and harassment

frafaf@d & ¥ #9971 FRE Terad T FEA3M F AfFnsit  gganfar & aiferg a8 Far e:
D faccir damer=it o o

2) rEEAINcH silehTmEr

3) gdenfas qdore

4) feam 3R 3cdis=

Ques # :113

Which of the following statements about the role of Class in Indian politics is incorrect?

1) Indian political parties do not derive their electoral support or policy agenda from distinct call groups or from
organized representatives of workers and capital.

2) The formal working class in India is fragmented and weak because it is not aligned with any political party.
3) In Indian politics class cleavages are not at all pronounced.
4) The middle class in India has been the most enthusiastic supporter of liberalization and globalization agenda.

R Trarehifer # 3t Y 7 Y e eafafl@a & & Flerar sue oa 8

D) ST Trore e gt 319eTr Foret wordiet A ferd srdienar faferse aeffer waggh am sifdant @
gl & 3= gfafafeca @ ured 8 v § |

2) s1reer 3 orares s @ @fer 3 gier ¥, i g R Torhfas aor 3 ST A Y|

3) i Troreh ey 3 aeffer frerg ey e 78 B

) TR # HETH ot ISRIIOT 3N RETHIUT T Tl ScHTET FH @I 8|

Ques # :114

In respect to the agrarian class, who among the following coined the term 'Bullock Capitalists'?
1) Lloyd and Susanne Rudolph

2) Pranab Bardhan

3) Barbara Harriss-White

4) Michael Kalecki

R 7ot &k o P @ Rt e GoftaRr are T T
D) s 31k gore wsow

2) gore FefeT

3) aReT eRE-arse

4) ATZh Forrh

Ques # :115

Which one among the following statements is wrong about the role of Caste in Indian Politics?
1) Caste communities influence electoral outcome.

2) Caste considerations tend to structure political parties their leadership and programmes.

3) Indian democracy has become more exclusive of social groups and categories

4) Caste groups work as pressure groups and influence the governance agenda of the Indian state.

R TSrehfer # Shfer 6 oiffaT 1 o w2 i@ & § #ia a1 Fya Taa 32

D) snfa-aegers gardt afomst i gamfad w3 §

2) STfereTer Arer-RreR TR gt , o1 s 3R FTHA B AT A

3) SRl SRl AT gt 3R Aot & 31foes rafSia gy s g

4) ST FaYg GaTa THG! T G I X § 3R ST T & LATHA-ToTsT &l Fa7Ifared Xt ¢




Ques # :116

Match List | with Il and select correct answer by using the

codes given below

List-l List-11
a G.5. Ghurye i. Homo Hierarchicus
b. M.N .Srinivas ii.Dominant caste
c. Louis Dumont iii Silent revolution

d.Christophe Jaffrelot v . Caste patriotism

Codes:

1) a-ii, b-iii, c- 1v ,d- 1
2) a-iii, b-iv, c-1, d-1ii
3) a-iv, b-ii, c-1,d- 1iii
4) a-i, b-1i, c-iii , d - iv

AT L w W E A fifeT @R A B oo s A ¥
HET 30 & 90+ ST

Ht -l HT - 1l
a. S . TH gd i. AT FERTERRE
b. TH. T ATHIH ii. FLTATAT AT
c. % gAT iii. e Wit
d fEats Fwnat iv. e ST

1) a-ii, beiii, c- iv , d- i
2)  adii, b-iv, c-1, d- ii
3)  a-iv, b-i, c-i ,d- iii

4)  a-, b-ii, c-iii, d - iv

Ques # :117

Which one of the following statements is incorrect:

1) A number of regional movements in Post Colonial India have turned into armed 'independentist’ movements.
2) The Shiromani Akali Dal of Punjab is a regional party with national agenda,

3) The Indian Constitution makes breaking up and creating new states relatively easy.

4) Construction of a region is a political project and often contested.

fArafaf@a § @ Flawr Fya 9T 82

1) sufageicay 9T & 3rie &1 31eaioreT T Taadaidr Aeareisil 3 IRafdd & v ]
2) GaiTe a1 RRIATOT 7ehTell Gof TSET FRIhHA & AT Ueh &1 & B

3) HRAT FIGUTsT, T2t o1 [aenToret st 3R 77T Tt & THATT &hT 3TA&TTehel 31T ST &l &
4) wer 877 1 AT Terfae o & 3k ur: fRaeeae @ar g

Ques # :118

Which one of the following statements is not correct about regionalization of Indian politics:
1) Most of the current regionalist politicians in India are not secessionists.
2) Regionalization of Indian politics refers to the increasing role of national political parties in regional politics.



3) Regional parties prefer getting financial benefits for their sates in exchange for political support to the
government in New Delhi.

4) Regional parties share the same political space as national parties.

Rrrrfafla # & Slear e s oy & Sareor &k #F arera ¥

D) st 3 3rfemier &Yy TotetdT qUharardy e 8]

2) R TSI o SYIIehR0T T T 811 TSI 3 IASENT ToTal Tl Gl 3T aget sffaenr I
gl

3) & T gor Ired & 3 3797 Uo & TIT ey ot & dcor & § 7930 feoeh & R &
TSl T YT HY|

) & ol TSET Gell & AT &Y ToTeifeh ST9Tg TS i g

Ques # :119

Match List | with List Il and select the correct answer by using
the codes given below

List-1 List-11
a.Sampoorna Kranti i. Maharashtra
b.Mavnirmam Andolan i West Bangal
c. Naxalite Movement iii. Gujarat
d. Dalit Panther iv. Bihar

Codes:

1) a-iv, b- 111, ¢- 11 ,d- 1
2) a-iii, b-1v, c-1,d- il
3) a-iv b -ii, c-1,d- 1iii
4) a-i, b-1ii, c-1iv ,d-iii

AT | w1 A Fifee # A B e
FT #A H WEr I F 949 FAT
- T -1
a. o7 Wi i. HABATE
b, FAfAATT HeelE= i, I¥aE @
C. AFEAARET AGraT il TS
d. gfera duy v TEER
e
1) a-iv, b-iii, c-iid-1i
2) a-iii, b-iv, c-1, d-1i

3) a-iv,b-ii,c-1,d-1ii
4) a-1,b-11,c-1v,d- 11

Ques # :120

In Which year the Central Vigilance Commission Act was passed?
1) 2005
2) 2003



3) 2002
4) 1988

e a8 #F T gasar 3maeT R faas aia AT = ar ?

1) 2005
2) 2003
3) 2002
4) 1988

Ques # :121

Match List | with List Il and identify the correct answer

from the codes given below:

List | List-11
Summit on climate change Year
a. Durban summit i 2010
b. Cancun summit ii 2009
cCopenhagen Summit i 2007
d Bali Summit v 2011

Codes:

1) a-iv b-ii c-iii d- i

2) a-ivb-ic-iid -iii

3) a-ii b-1i c-iv d-iii

4) a-iii b- 1 ¢c-iv d- ii

oI g I E AT fifeT #R A BT qw e # & |er
3L T IO RITAT:

o - T -

Jaa IREds o BrEy aEda a4

a =tgd TET gFdd i 2010
b Fed= RET g i 2009
¢ Sigegee  EET JFHe i 2007
d G ey TFEHeA v 2011

1) a-iv b-ii c-iii d- 1

2) a-ivb-ic-1iid-iii

3) a-i1 b-1 c-1v d-i11

4) a-iii b-1c-1vd- 1

Ques # :122

Which of the following features are incorrectly attributed to "Washington consensus of the 1990?
1) Free markets ,democratic government and open trade.

2) Open trade ,free markets and Dominant private sector.

3) Dominant private sector, neo liberalism and Democratic government.

4) Free markets, Welfare State and Democratic governmnet.

farafaf@a & ¥ Fiad) [FAwar 1990 F g2rF & R 'qIfderes GgAfa’ & IR A Tad &2

1) HFd SR, Al =3e TLhR 3R Gelt SR




2) G AR, FF SR AR Fefeasmel fsf &
3) garcasrel! st 817, 79 3eRarg 3R dewdfeTd TWaHR
%) T TR, FEAVTHENT T 3R AehellfeTd THR

Ques # :123

The Principal architects of the International Monetary fund at the Bretton woods Conference in 1944:
1) John M.Keynes and Harry D.White

2) George Kennan and Woodrow Wilson

3) Franklin D.Roosevelt and Winston Churchill

4) Winston Churchill and Stalin

1944 # fAAsH GFA A HARTSET AT FIY F HET THATHPR
D) siter v 3 3R 38 Srarse

2) SiTeT Fhete IR I faeas

3) $hiFFereT A Fotdee 3R Hive T

4) v afde 3R Terfoe

Ques # :124

Which of the following statement/s is/are true about agreements on trade and tariffs at the global level.
Identify the correct answer from the codes given below i. International Trade Organization was an outcome
of the Bretton Woods Conference ii .Prior to Uruguay Round seven rounds of GATT Negotiations were held
iii. The World Trade Organization was officially constituted on 1 January 1995. iv.Dunkel proposals served the
trade interests of the developing countries

1) iand ii

2) ii and iii

3) iii and iv

4) ii and iv

frrafaf@a & & Flaar Fuer dRTw Tav W AR 3R Tiew aasial F R A @ ek i
AW TR HI5 eAqsd Feaas 1 IRonA o7 | ii 3599 e ¥ 7 e aai F s g g
& 9 iii T ATIR Hare+T MTAFIRE T & 1 el 1995 H IS ;T A1) iv. Shel T
faerrarefter 2o & saraie feat 1 gfcd war am) Fe:

D i 3iwii

2) ij 31N i

3) iii 3R iv

4 ii 3R iv

Ques # :125

Which of the following statements regarding New International Economic order (NIEQ)is/are incorrect. i. The
NIEO was meant to consider the Bretton woods system. ii. The NIEO sought to structure the world economy
to permit greater participation by developing states. iii. The NIEO was designed to liberate developing states
from all trades, rules. iv .The Countries of the global North supported NIEO ,as it furthered neo-colonialism

1)1,iii and iv
2) i,ii and iv

4) 1,11 and iii

€ FARTSAT 3MTAF sqaTdT (NIEO) F! aR H AraAfaf@d & @ Flaur@ F4= 71aa 8/8] i. NIEO
feearggw sqawyr Ft FaFd T F fAT A1) ii. NIEO F faea srdfegaear it Garfoa w3 1 yarw
foraT, SR faerreiter T=t #1 3rfars dgsnfarar f&e 9| iii. NIEO &Y Taar Remrefier st &Y



F#t AR fATat @ o Fe of fAw Frorg oY) i v. ARGFIcAR F AAN IEO FTHFATT @ T,
FAF I o79- 3ufaaerare fr affgies w3 @ a1 Fe:

D, iii 3 iv

2) i,ii 3 iv

3) ..... .

11, 1ii i

P 1 i 31iii

Ques # :126

By which Regulation the United Nations General Assembly declared 19th December as the Annual United
Nations Day for South -South cooperation?

1) 54/229
2) 56/220
3) 55/230
4) 58/220

forer IFaTa & SART WYFA TS WE Y AFTHAT A 19 ww #r gfavor-gfaror wegaer F1 arfds g

s g el frar?
1) 54/229
2) 56/220
3) 55/230
4) 58/220

Ques # :127

What was Vietcong?

1) Name of Political Party in Cuba

2) Name of a river between Vietnam and Laos

3) Name of guerrilla group in South Vietnam

4) Name of the Communist Party in North Vietnam

fRraaeier a7 41?

D) argat & wes Tt A g AT

2) eI 3R 130G & & Ueh oAY &7 AT
3) gfayoT faadeTe # U STIAR THE T ATA

4) Sl AT & FFIaTEy &of FI ATH

Ques # :128

Identify the correct asecnding chronological sequence of events related to Cold War:
1) Truman Doctrine,Marshall Plan, Berlin Blockade, Fall of Dien Bien Phu

2) Marshall Plan ,COMINFORM, Truman Doctrine,Berlin Blockade

3) COMINFORM, Berlin Blackade, Fall of Den Bien Phu, Marshall Plan

4) Fall of dien BienPhu, Marshall Plan, Berlin Blockade, COMINFORM

offe gee @ weafta ueanst & ¥a) 3RE FaHa A sfaa Hifare:
D) =ie1 faegred , AreTr Areter, afelet sArenredy, f3aret foreT & ot e
2) AT AT, ATFCDIH, Lo [Aecred, afele Aehradr

3) AR, afelet ATRTadY, 32e et G 1 Iefed, #Areler Aeter

4) foaet et & &1 U, AT A, afeie ey, SR

Ques # :129



What among the following are responsible for 'Detente' between the United states of America and the Soviet
Union? Identify the correct answer from the codes given below: i .The Cuba Missile Crisis. ii .Rivalry between
Soviet Union and China. iii. American intervention in Vietnam. iv .Soviet intervention in Afghanistan. Codes:

2)1,ii, and iv

3)1,ii, and iii

4) 1 ,iii and iv

wFd T 3R 3R Afdwa §a F da qame AR & A frafafaa & @ w7 seaerh @2
AT fw 71T et F F T 3ceR F 9IS FIAT: i. Fg 7 AW ¥Fe. ii. MRTT dw i AT &
weg gideaegfadr iii. e & 3RS geaaiy. iv rpanfaar 7 3R gFaaiv. Fe:

2) i i, 3 iv
3)i i, 3R i
D1 i, 3R v

Ques # :130

Identify the correct group of states which came into existence as a result of the break up of Yugoslaira:
1) Croatia ,Slovenia, Armenia,Macedonia , Serbia

2) Azerbaijan ,Armenia, Macedonia, Croatia ,Slovenia

3) Macedonia, Croatia, Serbia ,Bosnia- Herzegovina ,Latvia

4) Bosnia-Herzegovina ,Serbia, Croatia, Macedonia ,Slovenia

iR & RGse & o U5 991,397 W W 7 Rfra S
1) v, Eelrdiferan, 3matfevan, SR afdar

2) 31Tt SRR AT FreRIa Ee e

3) Ao, sPreRRra, S, AT gt et

4) QT gl e, TRk FeRR A Fod e

Ques # :131

Match List | with List Il and identify the correct

answer from the codes given below:

List | List-11

MName of Leader Mame of Country.
Sukarno a.China

ii HO Chi Minh b. Egypt

iiiChou En Lai t. Indenesia

iv Gamal Nasser d. Ghana

V Khwane Nkrumah e. Vietnam

Codes

1) iiiiiivvbeacd
2) iiiiiiivvceabd
3) iiiiiivvcaedb
4) iiiiiiivvdaechb



AT | {ET N E A Ay #Y A B v s A 7

TET 30 &1 O89S -

HT -1 H -1l
Adr T A & 1 A
i. gl a. @

ii. 87 I HeE b. &
iii. MF TA AR c. ST
iv AT ATET d. ==
Vv TAHAT e. T@oa=TH

1) iiiiiiivvbeacd
2) iiiiiiivvceabd
3) iiiiiiivvcaedb
4) iiiiiiivvdaechb

Ques # :132

Match List | with List [l and identify the correct answer from

the codes given below:

List | List Il
Analyst idea
a. Charles Krauthammer i end of History
b. Samuel Huntington ii The Rise and fall of Great powers
t. Francis Fukuyama iii The Clash of civilizations
d. Paul Kennedy. iv the Unipolar Moment.
Codes:
1) a-iv b-iii c-id-ii
2) a-iii b- iv c-ii d- i
3) a-ib-iic-iiid-iv
4) a-iv b-ii c- 1 d- iii

AT I HET IH AW FfAT Y A B v e # ¥
HET 30 1 OhA HeIe:

o -l = -l

[CAGRED [EELY

3. Ocd WYUEAT i. TUE MW BEET

b. gfFTEw i &7 U= UUS Wig G &7 A gy
¢ WITEE TEHAAT iii & Feler 3w WA

d 91T Feigr iv &7 gfeeeT A

1) a-iv b-iii c- 1 d- ii

2) a-iii b- iv c-ii d- 1

3) a-i b-1ii c-iii d- iv

4) a-iv b-ii c- 1 d- iii



Ques # :133

Assertion(A) : International organisation is one response to the growing tension in World Society between the
process of integration and the desire for separation Reason(R ) : Capitalism created an integrated World
Economy and promoted the movement of ideas and people, as well as that of goods and services At the same
time, the growth of Nationalism signified a demand for separation

1) Both A and R are individually true and R is the correct explanation of A.

2) Both A and R are individually true, but R is not the correct explanation of A.
3) A is true, but R is false.

4) A is False, but R true.

W(A):ma-mﬁumﬁmaﬁtmﬁma:aﬁmgcm%qﬁr
FHATTSEIT HITST Teh HTHAT 8| FRON(R ) : Yoitare of Thipe faed srdegaeyr &1 fawtor fFar sk
feramt aar et & Jrarererer Ht AT, e & Ay awgAHt 3R Aaat F ot 34 SRrer Tegae F
fsra A gusar Y Aver F1 X@ifFa |

DA dRREAT G E 3R, A ST G earean &)

2) A IR REHAT TG & AfRT R, A T TEY caTEar 78T 8

3) A T & dIfheT R 38T ]

1) A 3T & AT R TT )

Ques # :134

Which of the following has been wrongly grouped as Millennium Development Goals of the United Nations?
1) Universal Primary education, Environmental sustainability ,Reduce child mortality.

2) Global partnership for development, Eradicate exterme poverty and hunger , Promote gender equality.

3) Universal human rights, Promote employment, Reduce child mortality.

4) Improve Maternal Health,Combat HIV/AIDS,Environmental Sustainability.

farafaf@a & @ Flaar @y TIFd TST T & FeATTeq A €A & Iy F Id ¢ :

D) ardsiifaes grafies fve, TR UM Hagaiae, i) Fcg # sl

2) faera & for 3fRas arsiery, 3ifa feierar 31k spasdt &1 3erae, Jiffte arrtar i siffafes
3) gt AT 3fER AR Hffgfee , Ry Jog 7 it

4) HcJcd T # GUR, TH.ITS.ET / TSH T Hehraloll, TATaRONT FGg=A1acll

Ques # :135

Which of the following is not a structural strength of the United Nations?
1) The UN Charter permits and encourages the formation of regional organizations for fulfilling its objectives .
2) The UN Charter provides for peace keeping and peace building activities

3) The UN, unlike other international organizations prior to it, is not an outcome of peace treaties signed after the
end of the World War II .

4) The UN is formed in such a way as to make it look like a World Government

frafaf@a & & Flad agaa Tvg ¥ A TaATcHS AR T8 :

D) &. 31, T &1 A 39y 3223t B qfcd o o a1 et o o oY T R dGraT S g |

2) §. 1. | T AT QAif-rare AR nifa-fAetor fr afafafeat @ gosr aarg |

3) 3195 § qIA ARSI Fareal I Heet, .30.66 gfacihr faea Ig & a1e gearaiid eifa
afergr wraRomA 6 g |

4) G099 1 27 e T A7 3137 T 329 TR T g a9 |

Ques # :136



Which of the following statement/s is/are true about the objectives of the African Union ? Identify the correct
answer from the Codes given below : i The African Union aims to have a single currency. ii The African Union
aims to have single integreated defence forces. iii The African Union seeks to bring an end to intra African
Conflict. iv The African Union seeks to promote closer integration with the developed World. v The African
Union aims to promote tribal autonomy and Nationalism. Codes :

1) i, iii, iv
2) i, i, iii

4 iii , iv, v

frafaf@a #F @ slaard Fue snfifr ¥o F R F 7ea /8 2 A R v Fet 7 F @t seax &1
T FIAT : i IPYRY T Uaher g Y AR AT ¢ i IPYRY T Tl TR &I I Y 3
afead T iii 3rAYRT T 37dT: 3rPIRT T ) o FIAT A8 T ¢ iv THH oo AT faeg & aryr
gferse ThiFor 1 AT AfEad § v R §9 Ao Fa-eddn A Usearg it sifRgiy awary

1) iiii v
2) iiiiii

4) iiiivv

Ques # :137

The ' ASEAN Plus Three Cooperation ' started in December 1997. Apart from the ASEAN States , which are
the other three Countries?

1) China, Japan, India

2) Japan, India, Mexico

3) Japan, Mexico, Russia

4) Japan, China, Republic of Korea

' AT TorE cller FEAT ' fer@FaT 1997 F YREST §31T | ITTAAT Geit & 3reiman, et 37 o vlerdy
g2

D) et , Stramer, s

2) ST, R, AfFgen!

3) SuTe, A &

4) FTare A, HINATS 0T

Ques # :138

At the time of its formation, which of the following was not one of the five areas of cooperation of SAARC?
1) Agriculture and rural development

2) Health and population activities

3) Human Rights and terrorism

4) Human Resource Development

YA A F AT Arafaf@a # F 731 819 A ggAer & ura 8531 § F v g1 91
D) &y 3k amafior e

2) Fareeyg 3N SEEAcHS ARl

3) AreTa 31RISR 3N 3MTdeare

) AeTa TaTeT e

Ques # :139

Consider the following statements regarding European Union : (i) Croatia is its 28th member state. (ii)
Croatia is not a part of euro zone.

1) Only (i)is Correct.
2) Only (i1) is correct.



3) Both (i) and (ii) are correct .
4) Neither (i), nor(ii) is correct .

T g9 § wFafta Arafaf@a w3« w fFEr fifae: () Frelrsas 28 s eea T g |
(ii) SPICTRIAT AT 1 AT A E |

D) e (i) wEY )

2) Fae (i) T |

3) (i) wd (if) arelt TET E |

B arar i), AT E (i) T T |

Ques # :140

Which one of the following is an incorrect attribute of the Nehruvian view of the foreign policy of India?
1) Non Alignment served to keep India outside the East-West fray.

2) International Institution and law matters are important and essential for the protection of weaker nations.
3) Indian diplomacy must work to prevent manipultaion of international institutions by Great powers

4) India's great power aspiration can be realized by working with Great powers for increasing trade investment and
technology transfers.

R # gy A F Agward) TRewIor A Arafaf@d & ¥ sl srad RAwar 2

D) 3 fAReTelr = 87l T qd-a R & T & g3 @ |

2) AT FEATE 3R FlefsT AgeaquT § 3 FHASAR G2if o F&To1 & forw FwA ¢ |

3) RN TSI Y FEIRATFAAT SaRT IIRIATSET FEAT3HT & TAATSTaT Y Uehell AR |

4) R ST AgIRITFT St T Hgcdehian ol O it o TIT 38 AGRITFAT & HIY 318 MR,
forarer AR JigIarehr gEdTeRuT & felT &1l hdelT =Mie T |

Ques # :141

Which among the following statement/s about India China relations is/ are true? Select the Correct answer
from the codes given below: i Outside the communist bloc, India was the first country to give recognition to
the people's Republilc of China. ii India supported the inclusion of Formosa Island in China. iii India opposed
the UN Rresolution which sought to declare China as aggressor state in Vietnam in February 1951. iv India
signed the Panchsheel Agreement of peaceful coexistence in April 1954 . Codes :

1)iand iv
2)ii and iii
3)iiand iv

-l graeul & TR & fafaf@a § @ slawr/ A sy ga g » AR Ruavge A d wd
Iocd T I FITAT i. AAATEY I & g HRT d6 gl 3 T, faa =t Siarard IR i
AT I&ToT Y | ii AR o BIATAT € Y DT 7 e w1 wordst | iii HIad 1954 7 sRa &

HYF S & 37 GEaTa HT e frar, it et & et 1 mshtear e BT T w@rar|iv
3T 1954 & R F Aifarqot wearfeda & qerefier gasila oX gwamnr fFv | Fe:

l)iandiv

2) ii 3 i

3)ii 3R iv

4) i, iii 3T

Ques # :142

" With a new confidence gained from the knowledge that India no longer had recourse to war, Pakistan
stepped up its support for terrorist groups active in India... " Which among the following factors explains



Pakistan's confidence as mentioned in the above statement?

1) Close friendship with the USA.

2) Successful use of terrorist strike groups against India .

3) India granting the status of Most Favoured Nation to Pakistan in 1995..
4) Advent of nuclear weapons in the sub-continent.

" qIfREATST & , 3 AT § WIC faRars & TR & 919 319 I #1 fAsvoq 781 8, 9Ra F winy
HTAFaTer WH! 1 39T FALT Fo1 ... Rrafaf@a #Re! # @ Fiaw #RF sudad vy &
3fcaf@a nfreae & ' feawr ' fr sRT cAreaT FIar g ?

D) wgera o 3mRe & arer aferse graet |

2) AR & fa%g 3MTcHaTdr THgT T T de ST |

3) 1995 # TR EaRT UTFREATST T T ITT AIET Hhas 2 HI &l |

4) 3Y-FETedT 3 3M0Tfaeh gTAARY T 3TH |

Ques # :143

Which one of the following is the basic feature of ' Gujral Doctrine ' ?

1) Consolidation of reations with South East Asian States

2) Refusal to demand reciprocity in relations with smaller South Asian Neighbours
3) Consolidating bilateral relations with South Asian States

4) Improving relations with Pakistan

frrafafea & & Fiaw ' JorTe Rgia ' i wogw a2

D) gferor.qd vl st & @ Geaeul Y Aot e |

2) gfeyor vfRram & DY TSI &Rt & AT FEewl Y GURE F IREGR 19T Y FIIT 7L HAT
3) g fayor TRIATE Tt & A EfAuai TEarUl Y Aetgd HET

4) afarEare & A1y g S FUReT

Ques # :144

Which factors prevented India from establishing cordial relation with Israel as a part of its West Asia Policy
from 1948-1991? Select the correct answer from the codes given below : i India did not want to antagonize
large domestic Muslim community. ii India wanted to have good relation with the Soviet Union and the
Communist bloc. iii India wanted to strengthen Non Aligned Movement iv India wanted the support of West
Asian states on the issue of Kashmir Against Pakistan v India wanted uniterrupted supply of oil and pertoleum
from west Asia Code :

1)i,iiand v
2)1ii, iii and iv
3)i,ivand v
4)ii,ivand v

W Fld FRF S SIRT F 379 aRas vl AfS F mr F T & s F T 1948-
1991 TF S WY Tl § afara 1@T 2 A1 T 77 e F § 7@ 3ea? #1997 AfAT : i AR_a
&or # 93 AR FHCTT F AT Tg1 FIAT ATgelT AT | ii HRA VfaTa e 3R Fo-arel e & e
HFG TGAT TTET AT | iii. /R I[E AYET HIeE T T AT FIAT A6 AT | iv AR FIHR AL
W IR & favg afRast vfian & oY &1 g argdr a7 | v HRT 9T v & d« 3
Yo ga Y Mgt faaT Seprae argdT 91| e

DiiisiRy

2) i, iii 3 iv

3)i,iv3-ﬁTV

Dii, vy



Ques # :145

Consider the following statements regarding ALBA : (i) Hugo Chavez, the then President of Venezuela is the
founder of ALBA. (ii) Honduras has been expelled from ALBA in 2012 .

1) Only (i)is Correct.

2) Only (ii) is correct.

3) (i) and (ii) both are Correct.
4) Neither (i), nor (ii) is correct.

veaT @ wFafd frfaf@a Fuet ) far fifaw : () vear & weus dasear & wseufa @
T AT | (ii) 2012 F BN F) Tea1 & veprer R aram

D) et (i) wET & |

2) e (i) FETE |

3) (i) @ (ii) Al FET |

B arar (i), A (i) T T |

Ques # :146

Incorrect statement regarding ' New Development Bank ' of BRICS Orgnaization is:
1) Its head quarter is in Shanghai.

2) Its member states signed the establishment documents at Shanghai in 2014 .

3) K.V Kamath is the first President of this Bank.

4) Initially the member nations have contributed 10 billion dollars each to the Bank .

fog wereet & ' g sqawdT dF ' F IR A RT FAT R

D) gwe Ao s H |

2) SHEHT TATIAT & SEATST T TEGEY TSET ¥ 2014 # eSS 7 gEaier v |
3) & .41, HIHY 58 I & Ugol LT |

4) 3FS I TeET TSl o o &7 10-10 TSI STor &1 3ierereT &2 |

Ques # :147

Among the following, which project is not connected with Indo-ASEAN relations :
1) Mangdechu project

2) Mekong Ganga project

3) Kaladan Project

4) Trilateral Highway project

R RIT 31 & FhoTely TRaoraT 1R SR W & g g ot &
D) Afare@rg afster

2) Fenrer-arer aRASAT

3) Freltere IRATSAT

1) Buefar Tr#ATeT RS

Ques # :148

Consider the following statements regarding India's agreement with Iran and Afghanistan on Chabahar Port.
(i) It will facilitate the reach of India towards Central Asia. (ii) It will counter the increasing impact of China
in the area. (iii) For connectivty with the Port, Zaranj-Delaram Highway has been built by Iran.

1) Only (i) and (ii) are Correct
2) Only (i) is Correct

3) Only (ii) and (iii) are Correct
4) Ony (i) and (iii) are correct



A & §T01 TF RIS & WY §Tl &1 A G AeR qeae TR F Toawey # fw=ifena
FYAT I AR AT : (1)37F 7ET TRAAT A 3R HRT A v YRwrera gt | i) Te sw T &
el & Tgd THTE HT ITASR FIT | (jii) $H TG0 ¥ F31@ & TAT TS - SARTH TSTATT FT faaaor
0T AR FFT AT B

D) e (i) = (i) FET &

2) el (i) THET &

3) Sad (ii) T (iii) TET &

4) e (i) T (iii) TETE

Ques # :149

Which of the following currency is currently not a part of ' SDR Basket ' of International Monetory Fund ?
1) U.S. Dollar

2) Yuan

3) Pound Sterling

4) Euro

forest & @ Fler Y T TTATT A IFARASET HAT FIY AT ' 0H A IR aFhe ' 1 REAradi g 2
D 7 uq. sfer

2) g3t

3) r33 Teforer

4) 2y

Ques # :150

Who among the following is not an Observer Organisation of Non Aligned Movement :
1) CELEC

2) African Union

3) World Peace Council

4) League of Arab states

farfaf@d & @ Fla efavdat aneiere 1 qdqars oo 7e1 ¢ :
D) o=

2) srshrehr wer

3) o8 dra F3fae

4) T 31 3R g



